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PRINCIPLES OF ELECTRONIC COMMUNICATION
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A2 () FHEHATIEAY feg s

Note : There are three sections A, B and C in the paper.

(i) @FT T I97 G&IT1 F T 10 YT % FR T | I 7T Qo 3 HT 2 T
G} 10 97T TGHE THFR F T F 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & F 8 I 7 @ fabgl 6 FoI & IR AT | I J97 3 37F FT 8 UF
5THT 5 TI/50 V155l § IR e |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(v) QFHE FH6 Iv1 7 @ [F21 4 397 & IR 7T | T T97 8 37 FT & T
§97 15 T157/150 Visgl 8 3w} 1@ |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) Fd% QFH F Gt I91 1 FHAGR T T T Fiford |

Solve all the questions of a section consecutively together.
(vi) @1 TST H 3= g7 ) [ 7 375 srgare 8 A 2

Only English version is valid in case of difference in both the languages.

R -1
SECTION - A
1. () 3 AM 34 6 AigavH 339 Seeteht 0§ 1 81 STt @, df graes e # o

(@) 50% (b) 25%
(© 100%3fg (d) IS uftada A&
If the modulation index of an AM wave is changed from 0 to 1, the transmitted
power will
(a) increase by 50% (b) increase by 25%
(c) increase by 100% (d) No change
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(i)

(iii)

(iv)

)

(vi)

(vii)

=1 5 @ %17 31 g foen wiam @ 2

@ W (b) e

(c) Hiuwg (d) fehflae fi et wm
Which one of the following is an Analog communication system ?
(a) PCM (b) Delta

(c) PAM (d) Differential PCM
AT TTgeds ST I RTam § 7

(a) THTHH (SSB) ¥ 31ferss defogy

(b) éwaﬁq&ﬁmsmcpﬁmﬁwsﬁaﬁm
(©) (a3 (b%

(d) S W H IS TE

What is the advantage of the VSB transmission ?

(a) Higher bandwidth than SSB.

(b) Less power required as compared to DSBSC

(c) Both (a) and (b)

(d) None of the above

FITCTRSI 1T TS fehd Tl & 7

(@) Huw b) d<wm

(© THEwW (d) drHiT™
Quantising noise occurs in

(@) PAM (b) TDM

(c0 FDM (d PCM

f . HArread g 7, d sl e am = a2

@ £ ®) 2f .

(© UL, @ 12f .

What will be the value of Nyquist rate, if the foli

(a) fmax (b) 2 fmax

(C) 1/ fmax (d) 172 fmax

R TG % foTT, ATgels 329 (m) T M & —

(@ m>1 (b) m<1 _

(¢ m=1 (d) SYUw H @ HIS T
For over modulation, the value of modulation index (m) is :

(a m>1 (b) m<1

(c) m=1 (d) None of the above
BPSK T 3715.TH.31TS. [ &1 Hefels 811 8 ?

(a) 3o e s (b) T et Rt
() 3 Frmer 3wt (d) 3 et et

ISI stands for what in BPSK ?

(a) Inter System Interference (b) Inter Select Interference
(¢) Inter Signal Interference (d) Inter Symbol / Interference

is the maximum frequency ?
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(vii) Fr et wr (PCM) # wfshanati 1 ol PRI R 2
(a) TP, FETRTEA, TRHIET  (b)  STHICRT, TRRIEHT, FTTSSI
(c) TS, Ui, Tehielm ()  Sudied o § IS &l
What is the correct sequence of operations in PCM ?
(a) Sampling; Quantising; Encoding
(b) Sampling; Encoding; Quantising

(¢) Quantising; Sampling; Encoding
(d) None of the above

(ix) FeTe TrEE qeheileh o 3ETET &

(a) FDMA (b) TDMA
() CDMA (d) IR Tt
Example of Multiple Access Technique
(a) FDMA (b) TDMA
(¢ CDMA (d) All of the above
(x) G T g o ST B 8, STeieh o
() T gER H THAR & (b) THEH 180° A

(0) ThgH Y o (90°) & (d) THERA360°
Two functions are orthogonal to each other, when

(a) Parallel to each other
(b) At 180° to each other
(¢) Perpendicular (90°) to each other

(d) At 360° to each other (1x10)
A — ft
SECTION - B
SSB HTgeIYH 1 BleT 2 ? 6% I BRIG 8 ?
What is SSB modulation ? What are its advantages ? €))

AM 33 % auft fi wreent % gl wd Wi % g i e |

Write down the frequency and power formulae of all the three components of the AM

wave. A3
AR HigeH (FM) ¥ Svefigy & g “HreH” % form <1 T |

Explain the “Carson’s law” for bandwidth in FM. 3
FM ®ehd, AM Hehd I o1 H @& (noise) % Sl A HagTeliet B & | il ?

Why is a FM signal less susceptible to noise than an AM signal ? A3
fefireet Higrer & gRRT ST AT - FmeTEeR i A |

Explain uniform and non-uniform quantisation in digital modulation. A3

P.T.O.
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7. ‘IS 1 ET § ST FH PCM o el e e 8 7
What is “Companding” and why is it used in PCM ? 3

8. IS =T EIT & G2 36%h 811 o fafirmt T o € 7

What is the ISI (Inter Symbol Interference) and what are different causes of its

occurrence ? A3)
9. Bl WA AIgAvH  fafit= 3uET (applications) frfad |
Write down various applications of spread spectrum modulation. A3
e -
SECTION - C

10.  Ife TIEyE AigeRM (AM) H WigavM 329 (m) &7 0 1 (W) B a), Rrg 53 f5 AM
ol 3 Jrferemamn Ao Sgeht Hier wfw 1 32 A R |

Prove that the maximum power in AM wave is 3/2 times its carrier power, if the
modulation index (m) in AM is onei.e. m = 1. &)

1. e gt Aiger firen %1 @vs-fas st o iR |

Draw the block-diagram of Armstrong Frequency Modulation system and explain. )]

12. “Feie-eia” Srafen ) afes a0 & e |

Explain with the help of diagram the Flat-Top sampling in detail. 8)
13. UeH IS AIGHYH % BEE (advantages) 31 TSR Y |
Explain advantages and applications of PCM. )

14. 3-8 Sre-Wagd (FHSS) w1 qiwiia S 3fit awemed | 38 UH-T (Near-Far)
S T = g ST |

Define and explain the Frequency-HOP Spread Spectrum (FHSS). Why near-far
problem does not occur in it ? )

15. Fraferiaa @ @ foredi @ we wftrea feouoft frfigd
(a) S HISSATS T KRR AfgelsH (DSBSC)
(b) el & FaTerEoe e g b & ww § (PCM).
(c) ST HTgARH

Write the short-Notes on any two from the following :

(a) Double Sideband Suppressed Carrier Modulation (DSBSC)

(b) Signal to quantization noise ratio in PCM

(¢) Delta modulation (4x2)



